
Section -1 
 

BUSINESS COMMUNICATION 
 

1. The teacher asked if ________ to bring our textbooks to class.  
a) had we all remembered  
b) all we had remembered  
c) we had all remembered  
d) had all we remembered 

 
2. By the next month, we shall __________ the project. 

a) has completed 
b) completing 
c) completed 
d) have completed 

 
3. Travel Magazine did ___ extremely interesting article on __ world’s most 

amazing buildings.  
 
a) An, a 
b) A, An 
c)  An, The 
d)  /, / 

 
4. Nancy said, “I may leave tomorrow.” 

(a) Nancy said that she might leave the next day. 
(b) Nancy said that she might leave tomorrow. 
(c) Nancy asked if she should leave the next day. 
(d) Nancy informed me to leave tomorrow. 

 
5. Which tense is used to express general truths and facts? 

(a) Present continuous tense 
(b) Present perfect tense 
(c) Past perfect tense 
(d) Present indefinite tense 

 
6. Give Synonym for the word FOSTERING : 

(a) Safeguarding  
(b) Neglecting  
(c) Ignoring  
(d) Nurturing  
(e)  

 



7. Give Synonym for the word MASSIVE: 
(a) Lump sum  
(b) Strong  
(c) Huge 
(d) Little 

 
8. Give Antonym for the word TERRIBLE: 

(a) Soothing  
(b) Frightening 
(c) Scaring  
(d) Delectable 

 
9. Rajeev failed in the examination because none of his answers were 

_______ to the questions asked. 
(a) allusive 
(b) revealing 
(c) pertinent 
(d) referential 

 
10. While in the Ancient India, women held a strong position; in the 

________ times, situations have changed.  
(a) Repulsive 
(b) Modern 
(c) Disappearing 
(d) Departure 

 
11. The Communication made by an organisation with the outside world is 

known as________. 
(a) Internal communication  
(b) Informal communication  
(c) External communication  
(d) Verbal communication 

 
12. Although he never learnt to read, his exceptional memory and enquiring 

mind eventually made him a very _______ man. 
(a) Dedicated 
(b) Erudite 
(c) Pragmatic 
(d) Benevolent 

 
Choose the error in the given questions: 
 

13. The capital of Yemen / is situating / 2190 meters above / the sea level. 



(a) The capital of Yemen 
(b) is situating 
(c) 2190 meters above 
(d) No Error 

 
14. Ramu is the elected leader / and also a person / who we all / can confide 

in. 
(a) and also a person 
(b) who we all 
(c) can confide in 
(d) No Error 
 

15. Given the ongoing anxiety in the times of crisis, it is hard To keeps one's 
temper: 
(a) To become hungry  
(b) To be in good mood  
(c) To preserve ones energy  
(d) To be aloof from  
 

16. He struck several bad patches before he made good. 
(a) came across bad soil  
(b) Had a bad time  
(c) Went through many illness  
(d) Had many professional difficulties  

 
17. The accounts of the murder made her flesh creep. 

(a) Made her sad  
(b) Surprised her  
(c) Made her cry bitterly  
(d) Fill her with horror  

 
18. Sanjay was the real power behind the throne and all politicians were 

aware of this. 
(a) The person who had the real control and power  
(b) The acknowledged leader  
(c) The person who controlled the monarch  
(d) The person who advised the queen  

 
19. Some people now wonder whether we just pay lip service or genuinely 

subscribe to democracy. 
(a) pay oral tribute  
(b) attach no value  
(c) remain indifferent  



(d) show only outward respect  
 

20. The new economic policy is likely to run into rough weather. 
(a) create problems   
(b) encounter difficulties  
(c) confuse matters  
(d) makes things difficult  

 
 

21. The sentences given in each question, when properly sequenced, from 
labelled with a letter. Choose the most logical order of sentences from 
among the given choice to construct a coherent paragraph. 
a. As we move from small to large animals, from mice to elephants or 

small lizards to Komodo dragons, brain size increases, but not so fast 
as body size. 

b. Since we have no reason to believe that large animals are 
consistently stupider than their smaller relatives, we must conclude 
that large animals require relatively less brain to do as well as 
smaller animals. 

c. In other words, bodies grow faster than brains, and large animals 
have low ratios of brain weight to body weight. 

d. The correlation of brain size with body size among kindred animals 
(all reptiles, all mammals, for example) is remarkably regular.  
 

(a) d b c a 
(b) b a c d 
(c) d a c b 
(d) c d a b. 

 
22. The sentences given in each question, when properly sequenced, from 

labelled with a letter. Choose the most logical order of sentences from 
among the given choice to construct a coherent paragraph. 
a. The ceremony was attended by politicians and dignitaries from more 

than 140 countries around the world. 
b. Nelson Mandela became South Africa’s first Black President after 

more than three centuries of White rule.  
c. The inauguration ceremony took place in the Union Buildings 

amphitheatre in Pretoria. 
d. Mr Mandela’s African National Congress (ANC) party won 252 of the 

400 seats in the first democratic elections of South Africa’s history.  
 

(a) b d c a 
(b) a c b d 



(c) a d c b 
(d) b a d c  

 
23. Which of these is not an element of an Effective Business Report? 

(a) Executive Summary 
(b) Conclusion 
(c) Key Findings  
(d) Font Style 

 
24. Which of these documents is not used in inter departmental 

communication? 
(a) Memorandum 
(b) Office Orders 
(c) Newspaper Advertisements 
(d) Circulars  

 
25. A well-defined MIS serves which of the following purposes:  

(a) To report the organization performance to stakeholders. 
(b) To prepare future plans for short and long term basis. 
(c) To exercise day-to-day control on various operations in different 

functional areas in organization. 
(d) All of the above.  

 
26. Under this communication network, all members of the group 

communicate with each other and exchange information: 
(a) Circuit Network 
(b) Chain Network 
(c) Star Network  
(d) Wheel Network 

 
27. Which of these is a barrier in effective listening? 

(a) Preconceived ideas or bias. 
(b) Interrupting in between conversation.  
(c) previous interpersonal encounters  
(d) All of the above. 

 
28. Which of these is not a benefit of Intranet?  

(a) Business Operations and Management 
(b) Promote Common Corporate Culture 
(c) Supports a Distributed Computing Architecture 
(d) Delayed update mechanism. 

 
29. Which of these best defines an ADR? 



 
(a) A statutory document filed by every company annually with the 

Registrar of Companies, stating the particulars such as status, names 
of directors, shareholders, indebtness etc. of the company  

(b) A receipt showing evidence that shares of a foreign corporation are 
held on deposit or under control of an U.S banking institution used to 
facilitate transactions and expedite transfer of beneficial ownership 
for a foreign security in the United States. 

(c) The financial statement generally prepared at the end of a period 
usually the financial year showing the assets, liabilities and net worth 
of an organisation. 

(d) None of the above. 
 

30. NABARD Stands for: 
(a) National Bank for Agriculture & Rainforest Development 
(b) National Bank for American Regional Development 
(c) National Bank for Agricultural & Rural Development 
(d) National Bank for Alliance & Rural Development 

 
Read the following passage carefully: 
Every individual wants peace of mind. But it is hard to find a person who can say 
that he has attained such a state of mental equilibrium as will allow him to live 
a life of tranquility. Peace of mind is a distant dream for all of us. What is the 
reason for this? The reason is that people hanker after ideal peace, that is, pure 
peace–a peace that is free from all kinds of non–peace items. 
But this kind of absolute peace is not in nature’s storehouse. Let us take the 
analogy of the rose. A rose is a very beautiful flower, but every stem has its 
thorns. Indeed, thorns are an integral part of the rose plant. A poet has rightly 
said that thorns serve as security guards for the flower. The translation of his 
Urdu lines is: “The safety of the flower would become impossible if the thorns 
were silk-like.” So flowers have to be accompanied by thorns. There must be 
hard thorns along with soft flowers–that is, there must be non–peace items 
along with peaceful items. A peaceful mind is a very precious aspect of human 
nature and it too needs safety to maintain its sublime quality. 
Studies in psychology show that an untroubled mind very soon becomes 
stagnant. It loses its creativity. For this reason, nature always leads people in 
challenging situations. It is a non–peace item which acts as a challenge for the 
mind. This guarantees that the creativity of a peaceful mind never comes to an 
end. A creative mind is always alive. 
It is a common phenomenon that one who is born in affluence and has a 
problem–free life, very soon finds his mind becoming dull, while the one who is 
born into a life of problems and hardships, has an active mind. Such a person 



develops the creative thinking and his intellectual development continues 
unhindered. 
 
Attempt the following questions on the basis of the passage you have read: 

31. What can be considered as a distant dream for all of us?  
(a) Peace of mind 
(b) fulfilling our ambition 
(c) meeting our targets 
(d) climbing the mountains 

 
32. Which of the following act as the security guards for the flowers?  

(a) Gardens 
(b) other plants 
(c) thorns 
(d)  roots 

 

33. Find the word in the passage which means testing one’s abilities: 
(a) tranquillity  
(b) impossible 
(c) creative 
(d) challenging 
 

34. People who are born in ………………………. have a dull life. 
(a) Affluence 
(b) Stagnancy 
(c) Safe environment 
(d) None of the above. 

 
35. Find the word in the passage which means not developing: 

(a) ideal 
(b) absolute 
(c) stagnant 
(d) distant  

 

 

 

 

 

 



Section 2 

LEGAL APTITUDE AND LOGICAL REASONING 

36. Consider the following statements:  
i Parliament of India consists of two Houses— Lok Sabha and Rajya Sabha  
ii. Parliament of India consists of the President and Lok Sabha  
iii. Parliament of India consists of the President and two Houses—the Lok Sabha and Rajya 
Sabha  
iv. Parliament of India consists of the Speaker of the Lok Sabha and Rajya Sabha and Lok Sabha  
 
Which of the statements given above is/are correct?  
a) (iii) only  
b) (ii) & (iv) only  
c) (i) & (ii) only  
d) (iv) only 

 

 

37. Which of the following are the functions of the Institute of Company Secretaries of India?  
 
a) Conduct of elections to the Council of the Institute  
b) Regulation of Training of the Students  
c) Examination of the Student  
d) All of the above 

 

 

38. 280 oranges are divided among some boys and girls whose total number is 50 so that each boy 

gets 5 oranges and each girl get 7 oranges. The number of girls is:  

 

a) 15  

b) 35  

c) 30  

d) 20 

 

39. According to the Constitution of India, all citizens shall have the right to practise any profession, 

or to carry on any occupation, trade or business is a 

 

a) Statutory Duties  

b) Fundamental Duties  

c) Voluntary Duties  

d) Fundamental Rights 

 

 

 

40. Tort is a  

 

a) None of the above  

b) Civil as well as criminal wrong  

c) Criminal wrong  

d) Civil wrong 

 

 



 

41. If in a certain language, SACHIN is coded as RZBGHM, how is ROGER coded in that code?  

 

a) QNFEQ  

b) QNEDQ  

c) QNFFQ  

d) QNFDQ 

 

 

42. Under which of the following articles of constitution of India, president can impose presidential 

rule in a state?  

 

a) Article 355  

b) Article 352  

c) Article 356  

d) Article 360 

 

43. UV, QR, MN, IJ __________?  

What is next in the series  

 

a) EF  

b) AC  

c) GK  

d) DC 

 

44. The Calendar for the year 2005 is the same as for the year.  

 

a) 2010  

b) 2009  

c) 2011  

d) 2012 

 

45. The Tenth Schedule of Indian Constitution was added via _______  

 

a) 24th Amendment Act  

b) 61st Amendment Act  

c) 85th Amendment Act  

d) 52nd Amendment Act 

 

46. The phrase ab initio means:  

 

a) From the beginning  

b) From the end  

c) Forever  

d) From the origin 

 

47. In the following question, choose the correct code form. If ANY = 40, MANY = 53 then MANIAC =?  

 

a) 43  



b) 44  

c) 41  

d) 42 

 

48. A contract is any _____ between two or more parties which is enforceable by law.  

 

a) Offer  

b) Acceptance  

c) Promise  

d) Agreement 

 

49. In a top secret message, if LIVING is coded as KHUHMF. How will BUDDHA be coded?  

 

a) ATCCGZ  

b) KGSHLD  

c) ATACFX  

d) ATEEIB 

 

 

 

 

 

 

50. No one can be convicted twice for the same offence. This doctrine is called  

 

a) Burden of proof  

b) Double jeopardy  

c) Corpus Delicti  

d) Double conviction 

 

51. What is next in the series - 18, 28, 40, 54, 70, …?  

 

a) 97  

b) 93  

c) 79  

d) 88 

 

52. Choose the word which is not similar to the other words in the group.  

 

a) Cycle  

b) Bike  

c) Car  

d) Scooter 

 

53. What is next in the series - 2, 6, 14, 30, 62, …? 
 
a) 30 
b) 64 
c) 126 
d) 94 
 



 

 

 

54. Quasi-contract means:  

 

a) From the conduct of a party a contract comes into 

b) Arising as if from deed  

c) Legal portion  

d) None of the above  

 

 

 

55. What will come in place of Question Mark?  

13, 26, ?, 52, 65  

 

a) 49  

b) 42  

c) 30  

d) 39 

 

56. Number of Languages in the Eighth Schedule of the Constitution of India is  

 

a) 19  

b) 15  

c) 21  

d) 22 

 

57. The Law of Torts has largely developed through:  

 

a) Bill of Parliament  

b) Act of Parliament  

c) Decisions of the Court  

d) Ordinance 

 

58. A and B are Brothers. C and D are sisters. A's son is D's Brother. How is B related to C  

 

a) Uncle  

b) Grand-Father  

c) Father  

d) Brother 

 

59. Arrange the words given below in a meaningful sequence.  

 

1. Cut  

2. Put on  

3. Mark  

4. Measure  

5. Tailor  

 

a) 2, 4, 3, 1, 5  

c) 1, 3, 2, 4, 5  



c) 3, 1, 5, 4, 2  

d) 4, 3, 1, 5, 2 

 

 

 

60. Part II of the Constitution of India deals with:  

 

a) Fundamental Rights  

b) The Union  

c) The States  

d) Citizenship 

 

61. Interest: Money Lender :: Salary : ?  

 

a) Zamindar  

b) Employees  

c) Workers  

d) Prisoners 

 

62. Injuria Sine Damnum means:  

 

a) Only damage  

b) Injury without damage  

c) Injury & damage  

d) Injury with damage 

 

63. Ordinance in a State promulgated by the:  

 

a) Chief Minister  

b) Governor  

c) President  

d) Prime Minister 

 

64. Find the odd number/letter from the given alternatives  

 

a) 841  

b) 962  

c) 626  

d) 1090 

 

65. Wagering agreements are nothing but ordinary________________. 

 

(a) Betting agreements 

(b) Conditional agreement 

(c) Quasi-judicial agreement 

(d) Sale Agreement 

 

66. …………………………. is a person who is employed to bring his principal into contractual relations 

with third parties. 

 



(a) An employee 

(b) An agent 

(c) A master 

(d) A Lawyer 

 

67. Which of the following in not a judicial remedy available to the plaintiff in an action for tort 

namely:  

 

(a) Damages  

(b) Injunction 

(c) Specific Restitution of Property 

(d) Penalty 

 

68. ‘ABCD’ as coded as ‘EFGH’ then ‘LIKE’ is coded as ........... 

 

(a) PMOI 

(b) MOIP 

(c) POST 

(d) KLMN 

 

69. Look at this series: 15, 22, 29, 36, 43, ... What number should come next? 

 

(a) 34 

(b) 29 

(c) 50 

(d) 74 

 

70. ‘CAD’ is coded as ‘HEI’ then ‘PQR’ is coded as ……….. 

 

(a) UUW 

(b) WWE 

(c) WWU 

(d) UWU  

 

 

 

 

 

 

 

 

 

 



 

 

 

Section-3 

ECONOMIC AND BUSINESS ENVIRONMENT 

 

71. From the following information, calculate Personal Income. 

Private Income = INR 2000 crore 

Undistributed Corporate Profits = INR 500 crore 

Taxes on Profits = INR 100 crore 

 

a. INR 2600 crore 

b. INR 1400 crore 

c. INR 2100 crore 

d. INR 2500 crore 

 

72. From the following information compute Private Income 

 NNP at Factor Cost =  INR 5000 crore 

Transfer Payments = INR 500 crore 

Interest on Public Debt = INR 200 crore 

Social Security disbursements = INR 100 crore 

Profits and Surpluses of Public Undertakings  = INR 400 crore  

 

a. INR 6200 crore 

b. INR 5200 crore  

c. INR 5400 crore 

d. INR 6000 crore 

 



73. From the following information compute Net National Product (NNP) at 

market prices. 

GNP at Market Prices = INR 600 crore 

Depreciation = INR 100 crore 

Transfer Payments  = INR 200 crore 

Subsidies = INR 50 crore 

 

a. INR 950 crore  

b. INR 650 crore  

c. INR 350 crore  

d. INR 500 crore   

 

74. ________________refers to market value of the final goods and services 

produced within the domestic territory of a country during a financial year, as 

estimated using the current year prices.  

a. Real National Product  

b. Net Domestic Product  

c. Nominal Gross Domestic Product  

d. Real Gross Domestic Product 

 

75. Personal income is never equal to the national income, because the former 

includes the _________ whereas they are not included in the national income.  

a.  Factor payments 

b.  Income payments 

c. Transfer payments  

d. Foreign payments 

 

 

 



76.  The proposals of the government for levy of new taxes, modification of the 

existing tax structure or continuance of the existing tax structure beyond the 

period approved by Parliament are submitted to Parliament through 

______________. 

a. Finance Bill 

b. Ordinary Bill 

c.  Appropriation Bill  

d.  Expenditure Bill  

 

77. All receipts and expenditure that liquidate or create an asset would in 

general be under__________ 

a. Current Account  

b. Profit & Loss Account  

c. Capital Account 

 

d. Revenue Account  

 

78. Detailing of revenue receipts and expenditures is done under which of the 

following ? 

a. Capital Budget  

b. Revenue Budget  

c. Master Budget  

d.  Exports Budget 

 

79. Interest payments on debts, subsidies etc., is covered under which of the 

following budgets? 

a. Master Budget 

b. Exports Budget 

c. Capital Budget  

d. Revenue Budget 



 

80. Disinvestment receipts is covered under which of the following? 

a. Master Budget 

b. Capital Budget  

c. Revenue Budget  

d.  Exports Budget  

 

81. Which is / are the function / (s) of the financial system of a country? 

a. Allocation and mobilisation of savings 

b. Provision of funds 

c. Developing financial markets 

d.  All of the above  

 

 

 

82. Which of the following is the correct classification of banks in India? 

a. Commercial Banks, Small Finance Banks, Payment Banks and Cooperative 

Banks 

b. Commercial Banks and Small Finance Banks  

c. Payment Banks and Cooperative Banks  

d. Commercial Banks, Payment Banks and Cooperative Banks 

 

83. Commercial banks in India comprises of: 

a. Only Public Sector Banks 

b. Only Public and Private Sector Banks 

c. Public Sector Banks, Private Sector Banks and Regional Rural Banks  

d.  Only Public Sector Banks and Regional Rural Banks 

 



84. Which of the following banks cannot issue credit card?  

a. State Bank of India  

b. Canara Bank 

c.  HDFC 

d. Paytm Payments Bank 

 

85. In February 2003, following the repeal of the Unit Trust of India Act, 1963, 

UTI was bifurcated into two separate entities, viz., the _______________ and 

____________ which functions under the SEBI MF Regulations.  

a. Specified Undertakings of the Union Territory of India (SUUTI) and UTI Mutual 

Fund  

b. Specified Undertakings of the Union Trust of India (SUUTI) and UTI Mutual 

Fund  

c. Specified Undertakings of the Unit Trust of India (SUUTI) and UTI Mutual 

Fund  

d.  Specified Undertakings of the Unit Trust of India (SUUTI) and SBI Mutual Fund  

 

86. Which of the following programmes was launched by the Government of 

India with the aim of adding more smartphone components under the Make in 

India initiative thereby giving a push to the domestic manufacturing of mobile 

handsets? 

a. Proper Manufacturing Programme (PMP) 

b. Phased Manufacturing Plan (PMP) 

c. Phased Manufacturing Process (PMP) 

d. Phased Manufacturing Programme (PMP) 

 

87. Which of the following is covered under the tertiary sector? 

a. Agriculture  

b. Services  

c. Manufacturing  



d. Exports 

 

 

88. Which of the following has the following three missions? 

i) Connect India: Creating robust digital communications infrastructure 

ii) Propel India: Enabling next generation technologies and services through 

investments, innovation and IPR generation.  

iii) Secure India: Ensuring sovereignty, safety and security of digital 

communications.  

a. National Digital Coordination Policy 2018 

b. New Digital Communications Policy 2018 

c. National Digital Communications Policy 2018 

d. National Digital Comprehensive Policy 2018 

 

89. Stand-up India scheme is anchored by ________________, 

_______________ and _______ 

a. Department of Financial Services, Ministry of Human Resource Development 

and Ministry of Corporate Affairs 

b.  Department of Financial Services, Ministry of Finance and Government of 

India  

c. Department of Financial Services, Ministry of Statistics and Programme 

Implementation and Government of India  

d. Department of Financial Services, Ministry of Home Affairs and Government 

of India  

 

90.  Pradhan Mantri Kaushal Kendra is offered by which of the following? 

a. National Skill Determination Corporation (NSDC) 

b. New Skill Development Corporation (NSDC) 

c. National Skill Development Corporation (NSDC) 

d. National Strategy Development Corporation(NSDC) 



91. Registration of the Start-up cannot be done for which of the following type 

of company? 

a. Partnership firm  

b. Limited Liability Partnership firm 

c. Private Limited Company 

d. Public Limited Company  

 

 

92. Which of the following is / are the feature / (s) of business environment? 

a. Specific and general forces 

b. Uncertainty 

c. Dynamic  

d. All of the above  

 

 

93. Population demographics, social mobility, income distribution etc. is covered 

under which of the following factors of business environment? 

a. Technological factors 

b. Social factors  

c. Legal factors  

d. Political factors  

 

94. Interest rates, inflation, business cycles etc. is covered under which of the 

following factors of business environment?  

a. Economic factors  

b. Social factors  

c. Legal factors  

d. Political factors  

 



 

 

 

 

95. Which of the following applications have been merged into SPICe (Simplified 

Proforma for Incorporating Company electronically) 

a. Name Reservation, Company Incorporation, Director Identification Number 

(DIN), Permanent Account Number (PAN) and the Tax Deduction / Collection 

Account Number (TAN). 

b. Name Reservation, Company Incorporation and Director Identification 

Number (DIN) 

c. Name Reservation, Director Identification Number (DIN), Permanent Account 

Number (PAN) and the Tax Deduction / Collection Account Number (TAN). 

d. Director Identification Number (DIN), Permanent Account Number (PAN) and 

the Tax Deduction / Collection Account Number (TAN).  

 

96. Which of the following is / are the objective / (s) of NITI Aayog? 

a. To evolve a shared vision of national development priorities, sectors and 

strategies with the active involvement of States.  

b. To foster cooperative federalism through structured support initiatives and 

mechanisms with the States on a continuous basis, recognizing that Strong 

States make a strong nation. 

c. To pay special attention to the sections of our society that may be at risk of 

not benefitting adequately from economic progress.  

d. All of the above.  

 

97. ‘SATH’ is a programme that focuses on two main sectors, i.e., education and 

health. What is the long form of SATH? 

a. Sustainable Action for Transforming Human Capital  

b. Sustainable Activities for Transferring Human Capital  

c. Secured Action for Transforming Human Capital  



d. Sustainable Action for True Human Capital  

 

98. In the backdrop of major failure of non-banking financial institutions, 

phenomenon of vanishing companies, plantation companies and stock market 

scams, the Government of India set up which of the following organisations? 

a. Securities and Exchange Board of India  

b. Insolvency and Bankruptcy Board of India  

c. Competition Commission of India  

d. Serious Fraud Investigation Office 

 

99. One of the Wings of ________________, the ICLS Academy, has the 

responsibility for conducting the Induction & Advanced Training for 

Probationary Officers (POs) belonging to the Indian Corporate Law Service 

recruited through the Common Exam of Civil Services Examination conducted by 

UPSC.  

a. Indian Institute of Corporate Affairs   

b. Indian Institute of Management  

c. Indian Institute of Technology  

d. Indian Institute of Foreign Trade 

 

100. Which of the following is not the functions of NCLT?  

a. Registration of company  

b. Transfer of shares  

c. Freezing assets of a company 

d. Reduce competition among the companies.  

 

101. Which is / are the factors influencing the elasticity of supply? 

a. Price of the Good. 

b. Probability that the price would change in future. 

c. Conditions regarding cost of production. 



d. All of the above 

 

102. A commodity with a_____________ has an infinite elasticity. 

a. Perfectly Elastic Supply 

b. Unitary Elastic Supply 

c. Relatively Greater Elastic Supply 

d. Relatively Less Elastic Supply 

 

 

 

 

 

103. When the change in supply is relatively less when compared to the 

change in price, it may be stated that the commodity has a____________. 

a. Unitary elastic supply 

b. Relatively greater elastic supply 

c. Relatively less elastic supply 

d.  Perfectly inelastic supply 

 

104. A service or a commodity has a ____________ if a given quantity of it can 

be supplied whatever might be the price.  

a. Unitary elastic supply 

b. Perfectly inelastic supply 

c. Relatively less elastic supply 

d. Perfectly inelastic supply 

 

105. When the change in supply is relatively more when compared to the 

change in price, it can be stated that the commodity has a ___________ 

a. Unitary elastic supply 



b. Relatively less elastic supply 

c. Relatively greater elastic supply  

d. Perfectly inelastic supply 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

Section-4 

 CURRENT AFFAIRS, PRESENTATION AND COMMUNICATION SKILLS (VIVA 

VOCE) 

 

106. Which country has assumed the Chairmanship of BRICS for 2021? 

a) Brazil  

b) Russia 

c) India 

d) China 

 

 

107.Jeff Bezos has decided to step down as CEO of which company? 

a) Microsoft 

b) Facebook 

c) Amazon 

d) Google 

 

108.  Which city’s Municipal Corporation has been selected as the best 

performing civic body in India? 

a) Guntur 

b) Vishakhapatnam 

c) Bhagalpur 

d) Rourkela 

 

109. Veteran Congress leader Tarun Gogoi passed away recently. He was the 

longest-serving Chief Minister of which state? 

a) Madhya Pradesh 

b) Gujarat 



c) Assam 

d) Maharashtra 

 

 

 

110.  Three Rafale Fighter Jets reached India on March 31, 2021. How many 

Rafale Fighter Jets are with India now as on April 01, 2021? 

a) 14 

b) 15 

c) 16 

d) 17 

 

111. Which container ship was blocking the Suez Canal for almost a week? 

a)  Ever Heaven 

b)  Ever Given 

c)  YM Wish 

d)  Ever Globe 

 

 

112.  Who has been selected for the prestigious Maharashtra Bhushan 

Award? 

a) Asha Bhosle 

b) AR Rahman 

c) Lata Mangeshkar 

d) Shreya Ghoshal 

 

113.Which politician was named among 20 winners of Sahitya Akademi Awards 

2020? 

a) M Venkaiah Naidu 



b) Salman Khurshid 

c) M Veerappa Moily 

d) Mallikarjun Kharge  

 

114. The Competition Commission of India has ordered an investigation into 

which messaging app's updated privacy policy? 

a) WhatsApp 

b) Hike 

c) Instagram  

d) Snapchat 

 

115. Which nation launched 38 foreign satellites in a historic mission during 

March 2021? 

a) France 

b) India 

c) Japan 

d) Russia 

 

116. Chief Justice of India SA Bobde is retiring on April 23, 2021. SA Bobde has 

recommended the name of which of the following Supreme Court judge for 

appointing next chief justice of India? 

a) RF Nariman  

b) UU Lalit 

c) AM Khanwilkar  

d) NV Ramana 

 

117. Who has authored the book "Bringing Governments and People Closer"? 

a) Vinod Rai 

b) Amalendu Guha 



c) Arundhati Roy 

d) Dr. M Ramachandran 

 

118. Which vaccine manufacturer has started testing its COVID-19 vaccine on 

young children and babies? 

a) Pfizer 

b) Johnson & Johnson 

c) AstraZeneca 

d) Moderna 

 

119. India has launched an Artificial Intelligence Initiative along with which 

nation? 

a)   France 

b)   UK 

c)   US 

d)   Italy 

 

120. Which city will host the India, Australia and France trilateral dialogue in 

April 2021? 

a) Sydney  

b) Paris 

c) New Delhi 

d) Bengaluru 

 

121. What is NOT a good strategy if you are unable to answer a question from 

an audience member during your presentation? 

a. Ask the audience member to see you after the presentation so you can 

understand the question better and answer it 

b. Ask others in the audience if they could answer the question 



c. Acknowledge you don’t know the answer and would think and get back to the 

questioner 

d. Acknowledge you don’t know the answer and say the question was irrelevant 

to the topic of the presentation 

 

 

122. For better readability, it is preferable that bullet points are: 

a. Complete paragraphs 

b. Short phrases or partial sentences 

c. Long sentences 

d. Page of text 

 

 

123. When delivering a presentation as part of a team it is important to: 

a. Make sure all the team members have the same duration to present their 

portion 

b. Make sure all the team members’ names are listed in order on all the 

presentation materials 

c. Coordinate your portion with others in the team and not duplicate their 

presentations 

d. Coordinate your portion with others in the team so you can present first 

 

 

 

124.  What is the synonym of ‘REITERATE’? 

a. Deny 

b. Repeat 

c. Frustrate 

d. Illustrate 



 

 

125. Ajay: “What ___________ in the evening?” 

Rajesh: “Usually  I do gardening or watch television.” 

a. you doing  

b. you do  

c. do you do  

d. are you doing  

 

126. I am not________ about your success because your _________ approach 

to study is disappointing.  

a. despaired, irresolute 

b. hopeful, regular 

c. optimistic, perfunctory 

d. rude, reckless 

 

 

126. The war_______ immediately after the ceasefire proposal was________ 

bilaterally 

a. receded, exchanged 

b. started, prepared 

c. extended, mitigated 

d. ended, accepted 

 

 

 

127. Choose the appropriate sentence as per the parameters of English and 

grammar.  

a.  I went yesterday to the bank to collect the pass book. 



b.  I went to the bank yesterday to collect the passbook. 

c. Yesterday to collect the pass-book I went to the bank. 

d. To collect the pass-book yesterday, I went to the bank. 

 

128. "Don't make so much noise. Abhay ..... to study for his CSEET!" 

a.  “try” 

b. “tries” 

c. “tried” 

d. “is trying” 

 

129. The purpose of a presentation intended to sell a service to a potential client 

is to: 

a. Inform 

b. Educate 

c. Entertain 

d. Persuade 

 

130. In selecting presentation technologies, it is important to select technologies 

that are: 

a. The state-of-the-art in presentation technologies 

b. The state-of-the-art in presentation technologies 

c. Available and can be used at the presentation location 

d. Available and can be used at the presentation location 

 

131. Proper eye contact with the audience when delivering a presentation 

involves 

a. Making a sweeping glance of the audience from left to right in the front row 

of the room 

b. Staring at each audience member 



c. Making a sweeping glance of the audience from the left to the right and front 

to back of the room 

d. Looking above the audience’s heads 

 

132. Important considerations in rehearsing a presentation are: 

a. Audience 

b. Attire 

c. Food and beverages 

d. Timing and pace 

 

133. Students are rarely able to __________ all the information given in one of 

the professor’s lectures. 

a. Capture 

b. Absorb  

c. Interest 

d. Achieve 

 

134. Puan Yante : How much is this laptop? 

a. Salesman : I don’t know how much. 

b. Salesman : It costs RM 3000. 

c. Salesman : It is very expensive. 

d. Salesman: It is cheap. 

 

135. Does wood sink in water? (Which word is a material noun?) 

a. sink 

b. does 

c. water 

d. wood 

 



136. Which two words are antomyms? 

a. Wet and slippery 

b. Wet and slick 

c. Dry and hot 

d. Dry and wet 

137. Identify the correct sentence. 

a. Ms. Henry is the teacher who cares about whether you write “Ms.” or “Mrs.” 

b. Ms. Henry is the teacher that cares about whether you write “Ms.” or “Mrs.” 

c. Ms. Henry is the teacher who cares about whether you write “ms.” or “mrs.” 

d. Ms. Henry is the teacher that cares about whether you write “ms.” or “Mrs.” 

 

138. Her face _______ with youth and health. 

a. dazzles 

b. beams 

c. sparkles 

d. glows 

 

139. In the Spring, the driveways ___ the canal are abloom with tulips! 

a. among 

b. behind 

c. beside 

d. under 

 

140.  Several architects ——- intriguing design plans for the Hadler Building ‘s 

addition. 

a. proposing 

b. proposed 

c. proposal 



d. proposals 

 

 

 

 

 

 

 

 

Answers:  

Questions Answers Questions Answers Questions Answers Questions Answers  

1 c 31 a 61 b 91 d 

2 d 32 c 62 b 92 d 

3 c 33 d 63 b 93 b 
4 a 34 a 64 a 94 a 

5 d 35 c 65 a 95 a 
6 d 36 a 66 b 96 d 

7 c 37 d 67 d 97 a 

8 a 38 a 68 a 98 d 
9 c 39 d 69 c 99 a 

10 b 40 d 70 a 100 d 
11 c 41 d 71 b 101 d 

12 b 42 c 72 b 102 a 
13 b 43 a 73 d 103 c 

14 d 44 c 74 c 104 b 

15 b 45 d 75 c 105 c 
16 d 46 a 76 a 106 c 

17 d 47 c 77 c 107 c 
18 a 48 d 78 b 108 b 

19 d 49 a 79 d 109 c 

20 b 50 b 80 b 110 a 
21 c 51 d 81 d 111 b 

22 a 52 a 82 a 112 a 
23 d 53 c 83 c 113 c 

24 c 54 a 84 d 114 a 
25 d 55 a 85 c 115 d 

26 c 56 d 86 d 116 d 



27 d 57 c 87 b 117 d 
28 d 58 a 88 c 118 d 

29 b 59 d 89 b 119 c 

30 c 60 d 90 c 120 c 
 

121 d 126 c 131 c 136 d 
122 b 127 b 132 d 137 a 

123 c 128 d 133 b 138 d 
124 b 129 d 134 b 139 c 

125 c 130 c 135 d 140 b 

 

 


